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Answer All Questions.

I\/E, x €(0,2]
. Letg(x) =1 1, x=0 .
-1, xe[-1,0).

(a) Prove that iilgl_g(x) = —1.
x—

(b) Is the 111% g(x) exists? Justify your answer.
x>

2. Below is the proof demonstrating that lim x2+2 = Q.
x—o X<+4

Fill in the blanks to complete it. (You have the freedom to add additional lines if needed.)

Lete > 0,
\ +2 +2

Notice that ;2+4 — I = 52+4 Lo, (1), for ..o (2)
Letb=............ (3)
Then beR.

Nowletx > b.Then................ and ... (4
.......................................................................... (5)
........................................................................ (6}
Hence foreach x > b, ;:2 — 0’ < g

Thus lim x:Z =0

¥—o0 X“+4
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